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1.  (A) Explain the concept of Average cost and Marginal cost. Discus
OR
Explain the Average Revenue and Marginal Revenue in mo
(B) Multiple Choice Question.
(1)  Which cost 1s not connected with out put 1
(A) Total fixed cost (B)
(C) Total variable cost (D)
(2) What 1s the nature of total variab
(A) Positively sloped

(C) Parallel to x-axis
(3) Which cost curve 1s horizo

(B) Total fixed cost curve
(D) Marginal cost curve

(A) Total costicury
(C) Total v co
(4) Average fixed co e
(A) (B) Total fixed cost

arallel to y-axis

variable cost =

Tot
(C) ge (D) Marginal cost
' 0 1

2. (A) Whati C ition ? Discuss the characteristics of perfect competition.
OR
la term equilibrium of the firm in perfect competition.
(B e Choice Question :
the following in which market firm has to act as a price taker ?
Monopolistic competition (B) Perfect competition
Monopoly (D) Oligopoly
(2) How is the curve of average revenue in perfect competition market ?
(A) Parallel to y-axis (B) Parallel to x-axis
(C) Negative slope (D) Postitive slope
(3) After how much expense a firm can keep production even in loss ?
(A) Average fixed cost (B) Average variable cost
(C) Average cost (D) Fixed cost
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(4) In which time period, number of firms are not changed ?
(A) Very Long term (B) Longterm
(C) Short term (D) Medium term

3. (A) What s meant by Monopoly ? Describe its features.

OR 4

Explain the short term and long term equilibrium of the firm in monopoli
competition.

(B) Multiple Choice Question.
(1) From the following in which market question of equilibriu

1s not arise ?
(A) Perfect competition (B) Monopolistic co
(C) Monopoly (D) Imperfectc

(2) How is the demand curve of monopolist firm ?
(A) Value elastic (B) P
(C) Value unelastic (D)
(3) In which market firm has control over

lue unelastic

ds ?

A) Perfect competition IC competition
pe P

(C) Oligopoly

4.  (A) Explainthe marginawnd of distribution with its limitations. 14
Explain the Modern the
(B) Multiple Choice

(1) As per
obtai

Rent.

uctivity theory of distribution, which type of return is
run ?

marginal productivity
han marginal productivity
ual to average productivity
Equal to marginal productivity
n the factor supply equal to rent ?

L,

Completely elastic (B) Value elastic
(C) Value inelastic (D) Completely inelastic
(3) Which factor of production gets rent ?
(A) Labour (B) Entrepreneur
(C) Capttal (D) Land
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1.  (A) Explain the concept of GDP and NDP
OR
Explain the measurement of National income with 1ts diffi
(B) Multiple Choice Question.
(1) Share of which sector is decreasing in GDP
(A) Primary (B)
(C) Service (D)
(2) In starting of planning, which se
(A) Agriculture
(C) Service one

(3) How many side of National e has ?
(B) One

(A) Three €
(D) None

(4) Since 19544 ' ive all data of National Income ?

(A) C (B) Reserve Bank
Commission (D) Finance Department
2. (A) What n iscuss the functions of Money. 14
uantity theory of Money.
hoice Question. 4

e fourth stage of evolution of money, which money was seen ?

(A) Commodity (B) Bank
(C) Metal (D) Paper
(2)  Which money is known as narrow money in India ?
(A) M, (B) M,
(€) M, (D) M,
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(3) Who has sign on currency note of ¥ 2 or more than < 2 in India ?

(A) Prime Minister (B) RBI Governor
(C) Finance Minister (D) Home Minister

(4) Which economist has given more importance to speculative purpose of

4

3

demand of money from the following ?
(A) Fisher (B) Keynes
(C) Friedman (D) Baumol

3.  (A) Explainthe J.B. Say’s law of Market.
OR
Explain the concept of consumption function.
(B) Multiple Choice Question.
(1) Who has presented the law that supply creates its own
(A) Pigou (B) Key
(C) J.B. Say (D) F an

(2) Which function shows the relation be
consumption expenditure ?

(A) Demand function

(C) Consumption function
(3) Who has given the conce

(A) Keynes

(C) R.F.Kh

function
roduction function

nt Multiplier ?
(B) Pigou
(D) Hicks

p

4.  (A) Whatis meantb SS e 7 Explain 1t’s features.

What 1s ' iscuss the types of inflation.
(B) Multi
of fluctuation 1s known as trade cycle in an economy ?
easonal (B) Longterm
Casual (D) Cyclical
t 1s relation between interest rate and price of securities ?
) Co-relation (B) Non-relation

(C) Uncertain (D) Inverse

(3) Generally how 1s the pure interest than gross interest ?
(A) more (B) equal
(C) Uncertain (D) less
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